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QUESTION 1

You have a dashboard that shows car rental statistics by city, including a field named Car Dropoff City in the view. A
URL action in the dashboard uses https://en.wikipedia.org/wiki/ as the URL target. When you click Salt Lake City in the
view, to where will the URL action direct you?

A. https://en.wikipedia.org/wiki/Salt_Lake_City

B. https://en.wikipedia.org/wiki/Salt+Lake+City+Car+Dropoff+City

C. https://en.wikipedia.org/wiki/

D. https://en.wikipedia.org/wiki/

Correct Answer: A

QUESTION 2

Using the CoffeeChain table, create a scatter plot of Profit (x-axis) vs Sales (y-axis) broken down by State. Add a Linear
trend line to the view. What is its R-squared value?

A. 0.783262
B. 0.739284
C. 0.759329
D. 0.748472
Correct Answer: A

Trend lines have become popular questions in recent Tableau examinations. Follow along: 1) First drag Sales to the
Rows shelf and Profit to the Columns shelf:

lil Columns SUM(Profit)

:= Rows SUM(Sales)

You will only see a single mark since the view is aggregated.

2) Now, break down this view by state. Drag State into Detail on the Marks shelf ( or directly to the view):
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3) Finally, move to the Analytics pane, and drag Trend line to the view. When you drag it, select the Linear option!:
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4) The following is our view. Hover over the trend line to see the R-squared value:
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QUESTION 3
Data blending simulates a traditional Join

A. Inner B. Right

C. Full Outer

D. Left

Correct Answer: D

Data blending simulates a traditional left join. The main difference between the two is when the aggregation is

performed. A join combines the data and then aggregates. A blend aggregates and then combines the data. From the
official website:
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Data blending

When you use data blending to combine data, a query is sent to the database for each data source that is used an the sheet.

The results of the gueries are sent back to ‘Tableau as aggrepated data and presented together in the visualization.

Note: Aggregating measures is straightforward —we can take the sum, average, maximum, or other aggregation of a
number with ease. Measure values arc aggregated based on how the field is aggregated in the view. However, all fields
from a secondary data source must be aggregated. How does that work for dimensions? Dimension values are
aggregated using the ATTR aggregate function, which retums a single value for all rows in the secondary data source.
If there are multiple values contained in those rows, an asterisk (*) is shown. This can be interpreted as "there are
multiple values in the secondary data source for this mark in the view".

The view uses all values from the primary data source (functioning as the left table} and the corresponding rows from the
secondary data source (the right table) based on the linking field(s).

Suppose you have the following tables. If the linking fields are User ID and Patron ID, not all values can be a part of the
resulting table because of the following:

o Arow in the left table does not have a corresponding row match in the right table, as indicated by the null value in the

results.

= There are multiple corresponding values in the rows in the right table, as indicated by the asterisk (*) in the results.

Userid  District  Level Type UseriD District  Lewel Branch  Type
1 2 16 Branch Patron ID District Lewvel 1 7 R G
2 3 4; Al 1 E . 2 3 apool g
= - P =2 pon1 2 3 L Jjpe— q L1 6 null M
1 2 aw o L 4 1 7 3+ W

When measures are involved, they are also aggregated, as seen below:

Branch  PatroniD District  Level Fines

Afo1 1 2 | 10.00
BOOL 2 3 4 10.00
ool 1 2 E] 0,00
UseriD District  Level  Type ¢ Useri0  Distriet  Level Type Branch  Fines
1 7 36 Branch  Patron 1D Distriet  Level Fines 1 3 36 . 20,00
2 3 41 . 1 2 3 0,00 2 3 'y BOO1 20.00
4 B em = am 2 4 2000 = 4 5 £ M mull aull
1 2 IW 2 1 2 3 40.00 1 2 W » a0 0o

Important: an asterisk (*) in a view with blended data indicates multiple values. This can be resolved by ensuring there
is only one matching value in the secondary data source for each mark in the primary data source, potentially by

swapping the primary and secondary data sources. For more information, see Troubleshoot Data Blending,.

Reference: https://help.tableau.com/current/pro/desktop/en-us/multiple_connections.htm

QUESTION 4

TDS-C01 PDF Dumps | TDS-C01 VCE Dumps | TDS-C01 Braindumps 6/12


https://www.pass4itsure.com/tds-c01.html
https://www.pass4itsure.com/tds-c01.html
https://www.pass4itsure.com/tds-c01.html

VCE & PDF https://www.pass4itsure.com/tds-c01.html

2024 Latest passditsure TDS-C01 PDF and VCE dumps Download
PassditSure.com

When you drop a continuous field on Color, Tableau displays a quantitative legend with a range of
colors.

A. Discrete

B. Fading

C. Continuous

D. Mixed

Correct Answer: C

When you drop a discrete field on Color in the Marks card, Tableau displays a categorical palette and assigns a color to

each value of the field. When you drop a continuous field on Color, Tableau displays a quantitative legend with a
continuous range of colors.

Web version:
Edit Colors Sales e 4
Palette
Automatic hd

%545 $105.643

Stepped color steps

Reverse

Reset

Desktop Version:
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oo el D
Palette:
-
£545 £105,643
|| stepped Color |5 : Steps
| Reversed
Use Full Color Range
Include Totals Advanced >>
Reset ] I 0K ] ’ Cancel l Apply

For more information about color palettes, see Color Palettes and Effects.

QUESTION 5

Which of the following are valid ways to italicize Tooltip content in Tableau?

A. Click on Format in the Menu bar, choose Font, and then edit the Tooltip options to italicize the font
B. Click on Tooltip in the Marks card, select the text, and then use the Italics option

C. Click on Worksheet in the Menu bar, select Tooltip, and then use the italics option

D. Click on Dashboard in the Menu bar, select Tooltip, and then use the italics option

Correct Answer: ABC

The only incorrect option is-Click on Dashboard in the Menu bar, select Tooltip, and then use the italics option. This
option doesn\\'t exist. See below:
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The rest of the options do exist, and therefore are correct:
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